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! 34/5 /4*6064,7 0+ 8-190676 -0,5,57 ;1«1 :0*=61/.>7*+2
I 2.7+,01* 8487- (*/<_60*= /197- 84=7@  84=T7+
I A*7 +577, 1; 6-4;, 8487-
! Bl (* C1.-DE3 F116 /4>8.+0H.60*=6-11> 4*6 +74, *1! 1* 57 ;-1*,84=7 1; ,57 714>0*4,01*
8487-!
"l J57-7 4-7 $ K. 7+,01*+ 0* ,50+ 8487-6 74/5 /4--07+ L >4-M+! E*+27-4*C " K.7+,01*+ B.« >4-M
1; ,50+ 8487- 0+ %L!
#! N., Cl.-4*+:-7-+0* 57 «*76 84=7+ 8-190676! E*+ - 7-+ 8., 7<+7 2 57-7 (< *1, H7 >4-M76!
$! 051z 4« Cl.-+,78+0* =7,,0%=,1 ,57 4*+-7-1 B.« /-760,+ =0« H7 =097* 1*<C(; ,57 4*+-7- 4*6
4« 57 +,78+ 4-7 /1--7/, 4*6 /<74-<C +51 - *!
%! J57 604=-4>+ (* 50+ 714>0%4,01* 8487- 4-7 *1, 6-4 = * |1 +/4T!
&! P4</ <4,1-+ 1; 4*C M0*6 4-7 *1, 4«1 276 0* ,57 714>(*4,01*!

E*+27-,57 K.7+,01*+ 20,5 4 H<.7 1- H<4/M H4« 87*!
P4*6064,7+ > _+, -7,.-* ,57 K.7+,01* 8487- 4*6 6-4;, 8487- 4, ,57 7*6 1; ,57 714>0*4,01*!



E*+27-4%C" K. 7+,01%40 74/5 /4--07+ L >4-M+! Q-0,7 61 =* 57 4*+-7-+ 1* 57 " {*76 84=T+
;11 2 0*=74/5 K. 7+,01*!

P P-ABC PC  ABC | |=3 =

| + | D E E 4B0 BC ||




I R4S ()= -3 +2 @=0

ROS ()=0 RS
s () 7C) RS
RIDS  fRxS RS
R0OS = () RS
ROS ROS @ RO9S = () RS
RHS = -8 +24 =8 - R& S
RASYIO7* ;. */01* ()= -3 +264*6,54, (1)=0!
RIS BU*6 4<< 57 +1<. ,01%RsS 1; |57 7K. 4,01* ( )= 0! R >4-M4S
RISBI*6 ) 4%6  “C ) R >4-IHS
RUODS BO*6 57 <L/& 410> .> 46 <1/4 >0%0>.> 94. 7+ 1; (). R >4-4S
RIOS BU*6 ,57 0%;<7/,01* 810* R+S 1; 57/.-97 = () R >4-M4S
ROS Z#0%= 57 -T+.<,+ * RIS @ RO9SG +M7,/5 57 /.-97 = (). R >4-MHS
RHS BU*6 ,57 4-74 1; 57 -7=01* HL.*676 HC ,57 /.-97+ = — 8 + 24 4*6
=8 - | R& >4-IHS



" ¢-1,0 a9

R4S C =4
RHS = 4+ C
R/S >0
ROS
RO0S cC P
RIS m L L

Y097* ;0176 810*%,+ (—1,0)4*6
= |

R4S 051 : ,54, C 0+ ,57 84-4H1<4

RHS 0.881+7 ,54, ,57 +,-40=5, 0*7

R/S0.881+7 > 0!

C .) =

R# S

ab=1 R# S

= C P m R S

m R# S

tan - R% S

@,0)E*C810*, (, )1*,57/.-97 C+4,0+;07+

=4 . R# =>4-M+S

= + 0+, 4%=7*% Z0,5C1051: 54, ab= 1! R# =>4-M+S

RS BO*66 H7+067+ ,57 1-0=0* ,57 0*,7-+7/,01* 810*, P 1; ,57 +,-40=5, <{*7
= 4*6 C! 318-7++ C1.- 4*+Z7-0* ,7->+ 1; m! R >4-M+S
ROOS B0*6 ,57 +<187 1; ,57 ,4*=7*,<0*7  1; C4, P! 318-7++ C1.-4*+Z7-

0*,7->+1; m!

R# =>4-M+5

ROOS B0*6 ,57 94<. 7R+S 1; m +./5 ,54, ,57 4*=T H7,-77* L 4*6 L 0+ tan -! R% >4-M+5



=v-1

RAS ROS =3+5 =5+ = + | - 1=1- |
Xy X y R#E S
ROOS z RS
RS | — | RS

RHS ® =cos—+ sin—

ROS =1 1+ + + + =0 R# S
R00S + = 2Cc0Ss— =123, - R S
ROOS  ROS  ROOS cCos— + Cc0S— + Ccos— R S
X7, =v-1
RASRISX7, =3+5 4* =5+ 10.881+7 = + #4007+ = |=] — |6
Z57-7 x 4%6 y 4-7 -74<1 B0*6 4 -7<4,01* H7, - 77* x 4*6 y! R#t =>4-M+S
R00S )* ,57 E-=4*6 604=-4>( 8<1, ,57 810*,+ ( 4*6,57<1/.+1;z R =4-M4S
ROOOS B0*6 ,57 >0*0>.>94.71;| - | R >4-M+S

RHS X7, w = cos—+ sin-!
R0S O51: ,54, =1 [76./7 54,1+ + + + =0 R#E >4-M+S
R00S 051 : ,54, + =2cos—bH =123,.1! R >4-M+S
RO0S Z+0*=,57 -7+.<,+ (* R0S 4*6 R00SG ;0%6 ,57 94<.7 1,

cos— + cos— + cos— ! Rl =>4-M+S
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$! R4S + + R®™ S
+ +
RHS Xy z 2
+ + =1
( ): + + =
+ + =
P 49
RIS p RES R# S
ROOS (E) P q (E) R* S
+ +
R4S B4/,1-0\7 ,57 67,7->0*4*, + + ! R™ >4-M+S
+ +

RHS Y097* ,57 +C+,7> 1; 7K.4,01*+ 20,5 . *M*1 = *+ x6 y 476 22

+ + =1
(): + + =
+ + =

257-7 p 4%6 g 4-T /1%+,4% 4]
ROS B0*6 ,57 -4*=7 1; p +./5 ,54, RES 54+ 4 *(K.7 +1<.,01*! R# >4-M+S
RS B0*6 ,57 =7*7-4< +1<.,01* 1; RES ;1- ,5147 94<. 7+ 1; p 4*6 ¢ +./5 ,54, RES 54+ >1-7

,94%* 1*7 +1<.,01*! R* >4-M+S



—_ L1
- A A L1
| I= T 1T-T T=1 | I=—l I=-
RHSROS | | =4=| | +| | =-
RIS R4S | |=1 | |=1 |+ | =v5
= CO0s I = CO0s — = COS —
I VY y
RIS X AB PC R S
P-AB-C = tan H
A [ -1 1 I==1 I |

A= = P-4B-C tan —=tan V5
—



I R4S ROS @=0 -1 O) O=C-1DC -2 -2

()=0 =1 -2 - 2=0 =1 =1++vV3
RO0S ()=3 -6 ()=6 -6
RO00S ()=0- =0 =2

<0 ()>0 )

0< <2 ()<O )

2< ()>0 o)

©)=2 =-2
wes  ()=0- =1 <1 ()<0 >1  ()>0

an = ()
ROS

y

y=fx)

F@ - )-(C -8 +24) =f-2 +16 -24
= -- +8 -24






#ORSRIS = +
| - 1=1- 1

(-3+(-9=(-5H+(C-1
(-3)+(-5=(C-5+(C-1

-2 +2=0
@)
o4 z -2 +2=0
5 °
4
3
2
1 e Z
0 >
01 2 3 456 7 8
ROOS =z =4+3 | - |
| - 1=v5
RHS ROS = (cos—+ sin-) =cos—+ sinr—=1
-1=0 (-1D(C + + +1)=0
+ + +1=0 R Z 15
R00S + =(COSZT+ Sil’i27—)+ (CO 2(‘7) + Si 2(‘7))
= (cos—+ sh—)+ (cos—- sin—)
= 2Cc0Ss—
ROOOS COS— + COS— + COS—

=-[( +2+ >+ ( +2+ )+ ( +2+ N
=-[C +2+ +( +2+ Y+ ( +2+ )]
=-[5+Q+ + + o+ )]
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RHS ROS
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1 R3S
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=-2 R3S
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O.==7+,T6 E*+-7-2

| R4S X7, MH7 57 >06V810%, 1; CE! E+ A 0+ 4% (+1+/7<7+ -04*=7 =0,5| |=]| |6
= 75497 1'Y097* =-4%6+1A 4*%6 A 4-7 +0>(<4-1 I5_+6
=B = T -1 T =u:7e] =] =
RHSRSE+| | =4=]| | +| |6:7=7, =-

%5 9%:%0%0 %5



+ 24

S OLO= -8 f71HAF =21 =6l
Bl-2< <6(,57/.-97 =8 - (+4H197 57/..97 = -8 + 24
W7%/76 57 -TK.0-76 4-74 0+
F@ - )-( -8 +24) =f-2 +16 - 24
= -- +8 -24
=
"ORMSQTBAT  =( +1,), =@P46  =( -1, W
_ 2(+D=2 ("D =4
=4 }
®)From  _ £277, @ -4+ =0 RS
E+,57T%7 = + 0 4%=7% 1 CIR $54+ 4 61.HCT -110 0, 60/-0>04%, 0+ LG
W@ -4) -4  =OWH/T =1
USRSOLO= =% §:7=7, =01 =—1E+ 570%7-47/,01% 810%, P 0+ *1, 57 1-0=0%

0, — —!

RISACRHS6<7, H7 = +-1E+P0+4810%1* (:7=7,—= —+ — z50/5=097+

4 -4 o+  =OIWIT =
RISE+ > 0O6<7,tan = 4*6tan =—H7,57+187+1; 4*6 (-7+87/,097<Co

I57-70< < <-1357%

tan - tan -5
-=tan( - )= T+ 1 T = 2 = > .
an tan 1+ ()
;-1> -50/5 -7 =7, -4 +2=0Wr*/7t =2%2



#1 RASRISX7, = + 1J57*

(-3+(-9=(-9D+(C-D

(-3+(-9=(C-5+(C-1D

-2 +2=0.
@@
RS | = | 4,,40%+0, >0%0>.> z57* z (+ ,57 >06V810*, 1;  4*6
y* 50+ /4+76| - | =5
RHS R0S = (cos—+ sin—-) =cos—+ sin—=1.
-1=0 ( -1 + + +1)=0
+ + +1=0R0*/7 #=1)

RO0S + =(00527+ sin27—)+ (cosz(_T)+ sinz(;—))
= (cos—+ sin—)+ (cos— - sin—)
=2cos—.

R000S CoOs— + CO0S— + CO0S—

= L +

00716

=4+ 3!



$! R4S + + = _ _ _
+ + - - -
+ +
=(-)XX-)-1 1 +
-1 1 +
+ +
=(-)X-)-1 1 -
0 0 -
+ + + +
=(-X-) o 1 -
0 0 -
=C-)X-)D)X- )+ + )

=

1
RHSROS R3S 54+ 4 _*0K.7 +1<_,01* 0; 4*6 1*<C (; 1 1 20076 #14*6 #-2!
1

=

+ + =1
Q57* =16R3SH7/1>7+ + + =11016 = 14*6,57+1<.,01*(+
+ + =
=1- -6 =, =, , |
+ -2 =1
RS Q57* = —-26R3SH7/1>7+ =2 + + =-=21357+.>1; 4« 57 ,5-77 7K.4,01*+ =097+
0= -1
+ -2 =1
W7*/76 = 11 I57%6 +1<90*=  _ bz7=r, =1+ ¢ =, =,

2 + + =-2

%



